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Chapter 11 O|4F A[ZH FE2|0f H

[1] Ans) A4, 7]

[2] Ans) <

[3] Ans) <

[4] Ans) |~

[5] Ans) A

[6] Ans) 2t}

[7] Ans) <

[8] Ans) F=7]<olrt

[9] Ans) O

[10] Ans) CTFT

[11] Ans) O

[14] Ans) &

[15] Ans) O

[16] Ans) 98~ S

[17] Ans) X

[18] Ans) @9l

[Quick Review]
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[19] Ans) ¥

[20] Ans) $F
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11.1 Ans)
(a) X(22) = 1+2cos($2)
(b) X(2) = 2cos(£2)
(c) X(2)=1-2cos(2)
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(c)
11.2 Ans)
(@) X(£2) = 2cos (£2) + 4cos (202) + 6¢os (302)
(b) X(£2)=—2cos(£2)+4cos(202)—6cos(342)
(c) X(2)=—j[6sin(£2)+12sin(22)+ 18sin (342)]

11.3 Ans)

() =fEde] @ 77 X (Q)E ded 23, X(2)E X ()7 20 F712 wEw,

— 27T_ . 27 _1 21T . \/57( _3_’/T
X(Q)( 5 i )5(9 2)+( SRR )5(9 2)
() X(2)= Y] nd(Q—kn)
k=— oo
11.4 Ans)
0.5¢ /¢ 1 I
(a) X(2) = _ L |
Y A (1-05e 792 1-05e 77 (1—-0.5e 79)?
( ) 2 *J’(Q*%) 2 *j(!?ﬁ-%) 170-2567J2Q
1—0.5¢e 1—0.5e
11.5 Ans)
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B 1
(a) Y()= T 0507
_ P 4e 7 2c0s(R2)
(b) ¥ig2) = 1—0.5e¢ 92  1—0.5¢ %
1 1 1 B 1
@ )= e i@ T g 7| T Ty gse
7 1
(@ o) = (1—0.5¢ 7%)?
11.6 Ans)
(a) z[n]=6[n]—26ln—3]+46[n+2]+35[n— 6]
(b) z[n]= 7(sin(7rn)— sin %Tﬁn))Z sinc(n)— %sinc(%n)
11.7 Ans)
s oo _ Y(©2) _ 1-05e "
(a) ’TJ’]"I‘ o H H(Q) (Q) 1+0.867]‘Q
g~ Lt pln]=(0.8)"uln]—0.500.8)" 'uln—1] = 6[n] +0.3(0.8)" 'uln—1]
= gl2~ ol - Y (2 ) e I
(b) 34 & H(R) = X(0) ~ 140640 27
old~ %t hn] = (0.8)”_1005(%@—1))u[n—1]
3 o . . Y(R) . 2¢ I — o129
() FAF 8% = A = F5) = 12080 77— 040 77
Q82 25 hlnl = 2000~ 1) = 10— 0.5 2uln—2]+ 2 (0.8)" *uln—2]
11.8 Ans)
3T 3T 3T
(a) yln]= cos(T(rH- 1))+ cos(Tn)-F cos(T(n* 1))
. 3T 3T 3
(b) y[n]f*cos(T(nJr1))+cos(7n)*cos(7(n*1))
11.9 Ans)
. V() . 1—2¢ 7% — 7729
(@) H(2) = X(02) 1405 92
() hlnl=(=0.5)"uln]—2(=0.5)"" "uln—1]—(=0.5)"" *uln—2]
=4§[n ]—255[ 1]+ (—0.5)"u[n—2]
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(c) y[n]+0.5y[n—1} = x[n]—Q:z:[n— 1]—9:[n—2]

11.10 Ans)
% 9]
(a) hln]=6[n]— —sinc(—n)
v iy
.27
(b) yln]= Sll’l(?n)
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11.11 Ans)
(a) X(£2)=4cos(£2)+8cos(212)
() X(2) %k__m(1+j45in(%k))5(9%k)
11.12 Ans)
(a) X(0)=12
(b) X(x)=0
1 [ B
©) gf_ﬂX(Q)dQ—l
(d) e IX(02)1?d =28
2 J
11.13 Ans)
_ 1 1 _ 2
@ X = T T 057 1025
b) xX()= 1 2%

1-0.5¢ 77 1-0.5¢/

Aol ©B 25) Al 24 zln] = (0.5)"uln]+(0.5) "u[-n—1]3. o] 4%
1 0.5¢2 B 3

X('Q)_ 170.567‘70—’_ 1*0-56'79_ 5—4cos{?

11.14 Ans)
(@A) a=1—¢ b=€¢ (" 1—a=0)
(b) a=—1+¢ b=—€¢ (7 14+a=0)

11.15 Ans)
. 1
(@) H(02) = 1+0.5¢ 7%
(b) hln]=(=0.5)"uln]
(©) yln] = (=0.5)"uln] +2(—=0.5)" *uln—3]
() yln] = %(0.25)"u[n] n %(*0.5)"’11[71] n %(m (= 0.5)"uln]



